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Algebra 1 Name:
Week 6 Assignment 1 (4/11 - 4/15) Teacher: Per:

To turn in your work:

Mr. Briggs, Mr. Murnane - send a photo to email

Mrs. Dua, Mr. Dewitt, Ms. Smith - send a photo to email or remind
Ms. Reyburn - send a photo to email, remind, or teacher instagram
Mrs. Burke, send a photo to email, remind, or padlet

Solve using factoring. Solve using completing the square.
1. x> + 10x +24=0 3. x*+6x =12

Solve using square roots.

Solve using the quadratic formula.
2. 10(x — 3> — 1 =39

4. 3x2+2x —4=0

Solve using any method!
5. X2+7x -8 =10 6. x>+ 10x = —15 7. 2x+3° =9

8. The freshmen in living earth launch homemade rockets at the start of the school year. One
team’s rocket had a flight path modeled by the equation 4(x) = —x* + 4x where x is time in
seconds and h(x) is height in yards. How long does it take for the rocket to hit the ground?



Answer Bank

x=‘2ﬂ2fV5_2 4 seconds
OR
x = —154and x = 87
x =1 xX= —6
x =35 x = —4




Solving Quadratic Equations using Zero Product Property
Algebra 1 — Distance Learning Check-In Student

Freedom High School Period Teacher

DIRECTIONS: Complete online using LHUSD Testing portal located on the Freedom High School
Website under Short Cuts, or in the Algebra 1 folder of the Online/Distance Learning Folder under math.
+« |[f you do NOT have internet access, print and email your paper to your work teacher turn in.

STUDENT ID: ##-#HHH Access Code: 2SXPWSB

1. What are the solutions for x for the quadratic equation 2x —1)(x+4) =0 ?
CHOOSE ALL THAT APPLY

A) x =0 B) x =1 C) x=-2 D) x = —2
E) x=2 F) x=4 G) x=-4 H) No Real Solutions
Use the quadratic equation below to answer the following questions.
x*—-3x—-40=0
If you factor the quadratic equation into 2 binomials, what are the 2 binomials?

2. ()

4. What are the solutions for x for the quadratic equation?
CHOOSE ALL THAT APPLY

A) x=0 B) x=5 C)x=-5 D) x=8

E) x=-8 F) x= % G) 41 H) No Real Solutions

Please be honest in answering the next questions. You earn the same points no matter the
answer.

5. 1did the assessment
A) By myself w/o any help or notes from anyone.
B) Using notes, but no one helped me.
C) |did most problems by myself
D) | needed help solving the quadratic.
E) 1did my best, but | did NOT want to ask anyone to help.
F) 1did my best, but no one was available to help me.
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